
PVC Tube Fans 
F236, F239

 

Repair Parts List

©2019 Val-Co Companies, Inc.

 
  

 

 

 

 

 

 

 

 

6

8

7

6

5

4

3

2
1

990215-RP (PVC Tube Fans) REV1

ITEM # PART # DESCRIPTION
F236 10” PVC TUBE FAN

1 B696 BLADE, 9-1/2” OD, 3/8” BORE 38° PITCH
2 FP804 10” PVC PIPE FAN HOUSING
3 FP806J 10” MOTOR MOUNT FOR PIPE FAN
4 FP808HCH 10” FAN GUARD SCREEN
5 M713 WO MOTOR, 1/6 HP, 230V, 60HZ, 1P, 3400 RPM

F239 12” PVC TUBE FAN
1 B698 BLADE, 11-3/8” OD, 1/2” BORE 28° PITCH
2 FP804B 12” PVC PIPE FAN HOUSING
3 FP806H 12” MOTOR MOUNT FOR PIPE FAN
4 980065 12” FAN GUARD SCREEN
5 M710 WO MOTOR, 1/4 HP, 230V, 60HZ, 1P, 3400 RPM

F236 & F239 PVC TUBE FANS - COMMON PARTS
6 MH8029 1/4” FLAT WASHER
7 MH90043 1/4-20 NYLOCK NUT
8 MH90167 1/4-20 X 3/4” HEX BOLT
9 MH90168 1/4-20 X 1” HEX BOLT
- ZBB1139A CAP BOX CONNECTORS

9

7


